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N & 0l & AF S & M M
202HE £ 25 YN SHES ~ HH5S
SA: HESS
BH: (JE5S FO N WO £9
Crol: YHHE Mel KR (HA5S) EEREED
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
tH&ss 1,491,317 1,302,717 188,600
ids5s =0 &HF BHo &2 590,819 530,219 60,600
dedy MelXd(HEsS) 243,723 173,723 70,000
EArzel 156,200 86,200 70,000
401 Al HIZ 2018 155,000 85,000 70,000
01 A€ HI 155,000 85,000 70,000
AL At I W 70,000 0 70,000
FOXX DR = (U E5S) 237,050 246,450 A 9,400
FUXNXAHZ2SE 37,440 47,440 A 10,000
201 L Et2A | 37,440 47,440 A 10,000
01 AtR 2t 2l | 29,440 39,440 A 10,000
AFS 22l 29,440 39,440 A 10,000
2 E 0 0l & 100,600 100,000 600
201 LEr2A | 156,600 15,000 600
01 At 2t2l bl 15,600 15,000 600
FOIFOI0IA Kso FAag
30,000& 20 600 0 600
HaEbss A8 XNFHE 487,000 373,000 114,000
H= 2 MEEU AMNLES(HELS) 487,000 373,000 114,000
A2AR2FU=JAAG 487,000 373,000 114,000
401 AIEHI L 2 CHYI 487,000 373,000 114,000
01 A€ HI 486,000 372,000 114,000
A8 MEQAAY 70,000 50,000 20,000
Le2s orsetz EH 10,000 0 10,000
AE1E(998-2) =& H] 20,000 0 20,000
HE1s(297-27) =22 % 20,000 0 20,000
MET7TE(2243-7) 2017 &X 12,000 0 12,000
LHE1S(242-5) s=2 2 & 10,000 0 10,000
ME2E(745-6) Ot Alel 24 10,000 0 10,000
=43 23017 & 12,000 0 12,000
HaEss dE233H| 413,498 399,498 14,000
Jl2dul(ass) 181,590 167,590 14,000
Jl234 181,590 167,590 14,000
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01 AtR 22l | 54,490 44,490 10,000
AFS 22l 54,490 44,490 10,000
-AtR2eltl 40,000 30,000 10,000
02 32224l 59,000 55,000 4,000
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